Opp.Govt.Mental Health Centre, PO. Kuthiravattom, Calicut - 673016 , Tel: 0495 2740321, 9747580707 info@calicutbooks.com www.calicutbooks.com

PAN - AALFC3813E, GSTIN - 32CXPPS8756M1ZE

BILL OF SUPPLY			REDIT
PRINCIPAL, ST.JOSEPH'S COLLEGE OF ENGINEE		Inv. No.	5778
PALAI,		_	
CHOONDACHERRY.P O. PALAI	GSTIN:	Date:	01/01/2019
Ref FLECTRONICS AND COMMUNICATION	Date	ORI	GINAI

	<u> </u>								!
Srl	Title	Author	Publisher	Qty	Rate	Total	Dis%	Dis Val	Value
1	ADVANCED ELECTRONIC COMMUNICATIONS SYSTEMS 6ED	TOMASI	PEARSON	2	679.00 R	1,358.00	28.00	380.24	977.76
2	ADVANCED ENGINEERING MATHEMATICS 10ED	KREYSZIG	WILEY INDIA	1	869.00 R	869.00	28.00	243.32	625.68
3	AN EMBEDDED SOFTWARE PRIMER	SIMON	PEARSON	1	839.00 R	839.00	28.00	234.92	604.08
4	AN ENGINEERING APPROACH TO COMPUTER NETWORKING	KESHAV	PEARSON	1	939.00 R	939.00	28.00	262.92	676.08
5	ANTENNA AND WAVE PROPAGATION	DAS	MCGRAW HILL	2	585.00 R	1,170.00	28.00	327.60	842.40
6	ANTENNA THEORY ANALYSIS AND DESIGN 3ED	BALANIS	WILEY INDIA	1	819.00 R	819.00	28.00	229.32	589.68
7	ANTENNAS AND WAVE PROPAGATION	RAJU	PEARSON	1	559.00 R	559.00	28.00	156.52	402.48
8	CIRCUITS AND NETWORKS 5ED	SUDHAKAR	MCGRAW HILL	1	575.00 R	575.00	28.00	161.00	414.00
9	CMOS VLSI DESIGN : A CIRCUITS AND SYSTEMS PERSPECTIVE 4ED	WESTE	PEARSON	1	899.00 R	899.00	28.00	251.72	647.28
10	COMMUNICATION SYSTEMS 4ED	HAYKIN	WILEY	1	849.00 R	849.00	28.00	237.72	611.28
11	COMMUNICATION SYSTEMS 5ED	HAYKIN	WILEY INDIA	1	679.00 R	679.00	28.00	190.12	488.88
12	COMPUTER ARCHITECTURE AND ORGANIZATION 3ED	HAYES	MCGRAW HILL	1	775.00 R	775.00	28.00	217.00	558.00
13	COMPUTER NETWORKING A TOP DOWN APPROACH 6ED	KUROSE	PEARSON	1	839.00 R	839.00	28.00	234.92	604.08
14	COMPUTER NETWORKS 5ED	PETERSON	ELSEVIER	1	575.00 R	575.00	28.00	161.00	414.00
15	COMPUTER ORGANIZATION 5ED	HAMACHER	MCCRAW-HILL	1	765.00 R	765.00	28.00	214.20	550.80
16	COMPUTER ORGANIZATION AND ARCHITECTURE 10ED	STALLINGS	PEARSON	1	749.00 R	749.00	28.00	209.72	539.28
17	COMPUTER ORGANIZATION AND DESIGN 5ED	PATTERSON	ELSEVIER	1	575.00 R	575.00	28.00	161.00	414.00
18	COMPUTERS AS COMPONENTS 3ED	WOLF	ELSEVIER	1	510.00 R	510.00	28.00	142.80	367.20
19	CONCEPTS OF INFORMATION THEORY & CODING 2ED	SATYANARAYANA	MEDTEC	2	395.00 R	790.00	28.00	221.20	568.80
20	CORE JAVA VOL.1 FUNDAMENTALS 10ED	HORSTMANN	PEARSON	1	869.00 R	869.00	28.00	243.32	625.68
21	CORE JAVA VOL.II - ADVANCED FEATURES 10ED	HORSTMANN	PEARSON	1	899.00 R	899.00	28.00	251.72	647.28
22	DATA COMMUNICATIONS AND NETWORKING 5ED	FOROUZAN	MCGRAW-HILL	1	825.00 R	825.00	28.00	231.00	594.00
23	DATA COMMUNICATIONS AND NETWORKS 2ED	GODBOLE	MCGRAW HILL	1	725.00 R	725.00	28.00	203.00	522.00
24	DESIGN OF ANALOG CMOS INTEGRATED CIRCUITS 2ED	RAZAVI	MCGRAW HILL	1	775.00 R	775.00	28.00	217.00	558.00
25	DESIGN WITH OPERATIONAL AMPLIFIERS AND ANALOG INTEGRATED CIRCUITS 4ED	FRANCO	MCGRAW HILL	1	785.00 R	785.00	28.00	219.80	565.20
26	DIGITAL AND ANALOG COMMUNICATION SYSTEMS	SHANMUGAM	WILEY	1	669.00 R	669.00	28.00	187.32	481.68
27	DIGITAL AND ANALOG COMMUNICATION SYSTEMS 8 ED	COUCH	PEARSON	2	909.00 R	1,818.00	28.00	509.04	1,308.96
28	DIGITAL COMMUNICATION	SINGAL	MCCRAW-HILL	2	525.00 R	1,050.00	28.00	294.00	756.00
29	DIGITAL COMMUNICATION	RAO	MCGRAW HILL	2	699.00 R	1,398.00	28.00	391.44	1,006.56
30	DIGITAL COMMUNICATION SYSTEMS	HAYKIN	WILEY	1	739.00 R	739.00	28.00	206.92	532.08
31	DIGITAL COMMUNICATIONS 5ED	PROAKIS	MCGRAW HILL	1	950.00 R	950.00	28.00	266.00	684.00
32	DIGITAL COMMUNICATIONS : FUNDAMENTALS AND APPLICATIONS 2ED	SKLAR	PEARSON	1	999.00 R	999.00	28.00	279.72	719.28

Conversion Rates DIr: 72.20, Eur: 80.70, Pnd: 89.60

Page 1 of 5

Continue.....

^{*} Certified that latest edition have been supplied and that they are not remindered titles.

^{*} Certfied that the price charged in the invoice is correct and is according to Publisher's catalogue. The conversion rate quoted is the latest as decided by the Good Office Committee.

Opp.Govt.Mental Health Centre, PO. Kuthiravattom, Calicut - 673016 , Tel: 0495 2740321, 9747580707 info@calicutbooks.com www.calicutbooks.com

PAN - AALFC3813E, GSTIN - 32CXPPS8756M1ZE

BILL OF SUPPLY			REDIT
PRINCIPAL, ST.JOSEPH'S COLLEGE OF ENGINEERIN		Inv. No.	5778
PALAI,			01/01/2019
CHOONDACHERRY.P O. PALAI	GSTIN:	Date:	01/01/2019
Ref FLECTRONICS AND COMMUNICATION	Data	ORI	CINAI

⊢—	· · · · · · · · · · · · · · · · · · ·								
Srl	Title	Author	Publisher	Qty	Rate	Total	Dis%	Dis Val	Value
33	DIGITAL CONTROL AND STATE VARIABLE METHODS 4ED	GOPAL	MCGRAW-HILL	1	795.00 R	795.00	28.00	222.60	572.40
34	DIGITAL DESIGN 6ED	MANO	PEARSON	1	669.00 R	669.00	28.00	187.32	481.68
35	DIGITAL DESIGN AND COMPUTER ARCHITECTURE 2ED	HARRIS	ELSEVIER	1	575.00 R	575.00	28.00	161.00	414.00
36	DIGITAL DESIGN PRINCIPLES AND PRACTICES 4ED	WAKERLY	PEARSON	1	799.00 R	799.00	28.00	223.72	575.28
37	DIGITAL FUNDAMENTALS 11ED	FLOYD	PEARSON	1	759.00 R	759.00	28.00	212.52	546.48
38	DIGITAL INTEGRATED CIRCUIT 2ED	RABEAY	PEARSON	1	799.00 R	799.00	28.00	223.72	575.28
39	DIGITAL LOGIC APPLICATIONS AND DESIGN	YARBROUGH	CENGAGE	1	599.00 R	599.00	28.00	167.72	431.28
40	DIGITAL PRINCIPLES AND DESIGN	GIVONE	MCGRAW HILL	1	845.00 R	845.00	28.00	236.60	608.40
41	DIGITAL SIGNAL PROCESSING 2ED	IFEACHOR	PEARSON	1	899.00 R	899.00	28.00	251.72	647.28
42	DIGITAL SIGNAL PROCESSING 2ED	NAGOOR KANI	MCGRAW HILL	1	635.00 R	635.00	28.00	177.80	457.20
43	DIGITAL SIGNAL PROCESSING 3ED	SALIVAHANAN	MCGRAW HILL	1	645.00 R	645.00	28.00	180.60	464.40
44	DIGITAL SIGNAL PROCESSING 4ED	PROAKIS	PEARSON	1	839.00 R	839.00	28.00	234.92	604.08
45	DIGITAL SIGNAL PROCESSING 4ED	MITRA	MCGRAW-HILL	1	840.00 R	840.00	28.00	235.20	604.80
46	DIGITAL SYSTEMS: PRINCIPLES AND APPLICATIONS10ED	TOCCI	PEARSON	1	999.00 R	999.00	28.00	279.72	719.28
47	DISCRETE TIME CONTROL SYSTEMS 2ED	OGATA	PEARSON	1	739.00 R	739.00	28.00	206.92	532.08
48	DISCRETE TIME SIGNAL PROCESSING 3ED	OPPENHEIM	PEARSON	1	769.00 R	769.00	28.00	215.32	553.68
49	DOEBELINS MEASUREMENT SYSTEMS 6ED	DOEBELIN	MCGRAW-HILL	1	775.00 R	775.00	28.00	217.00	558.00
50	ELECTROMAGNETIC WAVES AND RADIATING SYSTEMS 2ED	JORDAN	PEARSON	2	539.00 R	1,078.00	28.00	301.84	776.16
51	ELECTROMAGNETICS 2ED	EDMINISTER	MCGRAW HILL	1	675.00 R	675.00	28.00	189.00	486.00
52	ELECTRONIC CIRCUITS 3ED	NEAMEN	MCGRAW HILL	1	865.00 R	865.00	28.00	242.20	622.80
53	ELECTRONIC COMMUNICATION SYSTEMS 6ED	KENNEDY	MCGRAW HILL	1	750.00 R	750.00	28.00	210.00	540.00
54	ELECTRONIC COMMUNICATIONS 4ED	RODDY	PEARSON	1	979.00 R	979.00	28.00	274.12	704.88
55	ELECTRONIC COMMUNICATIONS SYSTEMS: FUNDAMENTALS THROUGH ADVANCED 5ED	TOMASI	PEARSON	1	999.00 R	999.00	28.00	279.72	719.28
56	ELECTRONIC INSTRUMENTATION AND MEASUREMENTS 3ED	BELL	OXFORD	1	615.00 R	615.00	28.00	172.20	442.80
57	EMBEDDED REALTIME SYSTEMS PROGRAMMING	IYER	MCGRAW HILL	1	585.00 R	585.00	28.00	163.80	421.20
58	EMBEDDED SYSTEM	DAS	PEARSON	1	599.00 R	599.00	28.00	167.72	431.28
59	EMBEDDED SYSTEM ARCHITECTURE	NEORGAARD	ELSEVIER	1	575.00 R	575.00	28.00	161.00	414.00
60	EMBEDDED SYSTEM DESIGN	VAHID	WILEY	1	589.00 R	589.00	28.00	164.92	424.08
61	EMBEDDED SYSTEMS ARCHITECTURE PROGRAMMING AND DESIGN 3ED	RAJKAMAL	MCGRAW HILL	1	699.00 R	699.00	28.00	195.72	503.28
62	ENGINEERING ELECTROMAGNETICS 8ED	HAYT	MCGRAW HILL	1	699.00 R	699.00	28.00	195.72	503.28
63	ERROR CONTROL CODING 2ED	LIN	PEARSON	2	1059.00 R	2,118.00	28.00	593.04	1,524.96
64	FIBER OPTIC COMMUNICATIONS 5ED	PALAIS	PEARSON	1	829.00 R	829.00	28.00	232.12	596.88

Conversion Rates Dlr: 72.20, Eur: 80.70, Pnd: 89.60

Page 2 of 5

Continue.....

For CalicutBooks

* Certified that latest edition have been supplied and that they are not remindered titles.

* Certfied that the price charged in the invoice is correct and is according to Publisher's catalogue. The conversion rate quoted is the latest as decided by the Good Office Committee.

Opp.Govt.Mental Health Centre, PO. Kuthiravattom, Calicut - 673016 , Tel: 0495 2740321, 9747580707 info@calicutbooks.com www.calicutbooks.com

PAN - AALFC3813E, GSTIN - 32CXPPS8756M1ZE

BILL C	CF	REDIT	
PRINCIPAL, ST.JOSEPH'S COLLEGE OF ENGINE	ERING & TECHNOLOGY	Inv. No.	5778
PALAI,		Date:	01/01/2019
CHOONDACHERRY.P O. PALAI	GSTIN:		
Ref FLECTRONICS AND COMMUNICATION	Date	ORI	IGINAI

<u> </u>	· · · · · · · · · · · · · · · · · · ·						·		
Srl	Title	Author	Publisher	Qty	Rate	Total	Dis%	Dis Val	Value
65	FIBER-OPTIC COMMUNICATION: SYSTEMS AND COMPONENTS	MISHRA	WILEY INDIA	1	589.00 R	589.00	28.00	164.92	424.08
66	FOUNDATIONS FOR MICROWAVE ENGINEERING 2ED	COLLIN	WILEY INDIA	2	999.00 R	1,998.00	28.00	559.44	1,438.56
67	FUNDAMENTALS OF MICROELECTRONICS	RAZAVI	WILEY INDIA	1	789.00 R	789.00	28.00	220.92	568.08
68	FUNDAMENTALS OF NANOELECTRONICS	HANSON	PEARSON	2	829.00 R	1,658.00	28.00	464.24	1,193.76
69	FUNDAMENTALS OF SEMICONDUCTOR DEVICES	ACHUTHAN	MCGRAW HILL	1	865.00 R	865.00	28.00	242.20	622.80
70	HIGHER ENGINEERING MATHEMATICS 44ED	GREWAL	KHANNA	1	799.00 R	799.00	28.00	223.72	575.28
71	INFORMATION THEORY AND CODING BY EXAMPLE	KELBERT	CAMBRIDGE	1	750.00 R	750.00	28.00	210.00	540.00
72	INFORMATION THEORY CODING AND CRYPTOGRAPHY 3ED	BOSE	MCGRAW HILL	1	610.00 R	610.00	28.00	170.80	439.20
73	INSTRUMENTATION MEASUREMENT AND ANALYSIS 4ED	NAKRA	MCCRAW-HILL	1	665.00 R	665.00	28.00	186.20	478.80
74	INTEGRATED CIRCUITS	BOTKAR	KHANNA	1	399.00 R	399.00	28.00	111.72	287.28
75	INTRODUCTION TO EMBEDDED SYSTEMS 2ED	SHIBU	MCGRAW HILL	1	650.00 R	650.00	28.00	182.00	468.00
76	INTRODUCTION TO MICROPROCESSORS 3ED	MATHUR	MCGRAW HILL	1	875.00 R	875.00	28.00	245.00	630.00
77	INTRODUCTION TO NANOTECHNOLOGY	POOLE	WILEY	1	729.00 R	729.00	28.00	204.12	524.88
78	INTRODUCTION TO PROBABILITY MODELS 11ED	ROSS	ELSEVIER	1	565.00 R	565.00	28.00	158.20	406.80
79	INTRODUCTION TO RADAR SYSTEMS 3ED	SKOLNIK	MCGRAW HILL	1	730.00 R	730.00	28.00	204.40	525.60
80	INTRODUCTION TO SEMICONDUCTOR MATERIALS AND DEVICES	TYAGI	WILEY INDIA	1	779.00 R	779.00	28.00	218.12	560.88
81	INTRODUCTION TO VLSI CIRCUITS AND SYSTEMS	UYEMURA	WILEY	1	779.00 R	779.00	28.00	218.12	560.88
82	JAVA HOW TO PROGRAM EARLY OBJECTS 11ED	DEITEL	PEARSON	1	949.00 R	949.00	28.00	265.72	683.28
83	LET US C++ 2ED	KANETKAR	BPB	1	330.00 R	330.00	28.00	92.40	237.60
84	LINEAR INTEGRATED CIRCUITS 2ED	SALIVAHANAN	MCGRAW HILL	1	475.00 R	475.00	28.00	133.00	342.00
85	MICROELECTRONIC CIRCUITS ANALYSIS AND DESIGN 2ED	RASHID	CENGAGE	2	799.00 R	1,598.00	28.00	447.44	1,150.56
86	MICROELECTRONIC CIRCUITS THEORY AND APPLICATION 7ED	SEDRA	OXFORD	1	850.00 R	850.00	28.00	238.00	612.00
87	MICROPROCESSOR ARCHITECTURE PROGRAMMING AND APPLICATIONS WITH THE 8085	GAONKAR	PENRAM	1	495.00 R	495.00	28.00	138.60	356.40
88	MICROPROCESSORS AND MICROCONTROLLERS	MANDAL	MCGRAW HILL	2	595.00 R	1,190.00	28.00	333.20	856.80
89	MICROPROCESSORS AND MICROCONTROLLERS 2ED	NAGOOR KANI	MCGRAW HILL	1	565.00 R	565.00	28.00	158.20	406.80
90	MICROWAVE DEVICES AND CIRCUITS 3ED	LIAO	PEARSON	1	719.00 R	719.00	28.00	201.32	517.68
91	MICROWAVE ENGINEERING 3ED	DAS	MCGRAW HILL	1	595.00 R	595.00	28.00	166.60	428.40
92	MICROWAVE ENGINEERING 2ED	RAO	PHI LEARNING	2	495.00 R	990.00	28.00	277.20	712.80
93	MICROWAVE ENGINEERING 4ED	POZAR	WILEY INDIA	1	729.00 R	729.00	28.00	204.12	524.88
94	MILLMANS INTEGRATED ELECTRONICS 2ED	MILLMAN	MCGRAW-HILL	1	750.00 R	750.00	28.00	210.00	540.00
95	MOBILE CELLULAR TELECOMMUNICATIONS 2ED	LEE	MCGRAW HILL	1	660.00 R	660.00	28.00	184.80	475.20
96	MOBILE COMMUNICATIONS 2ED	SCHILLER	PEARSON	2	839.00 R	1,678.00	28.00	469.84	1,208.16

Conversion Rates Dlr: 72.20, Eur: 80.70, Pnd: 89.60

Page 3 of 5

Continue.....

^{*} Certified that latest edition have been supplied and that they are not remindered titles.

^{*} Certfied that the price charged in the invoice is correct and is according to Publisher's catalogue. The conversion rate quoted is the latest as decided by the Good Office Committee.

Opp.Govt.Mental Health Centre, PO. Kuthiravattom, Calicut - 673016 , Tel: 0495 2740321, 9747580707 info@calicutbooks.com www.calicutbooks.com

PAN - AALFC3813E, GSTIN - 32CXPPS8756M1ZE

BILL O	F SUPPLY	CF	REDIT
PRINCIPAL, ST.JOSEPH'S COLLEGE OF ENGINEE	RING & TECHNOLOGY	Inv. No.	5778
PALAI,		Date:	01/01/2019
CHOONDACHERRY.P O. PALAI	GSTIN:	Date.	01/01/2019
Paf ELECTRONICS AND COMMUNICATION	Dete	OB	ICINAL

-	· · · · · · · · · · · · · · · · · · ·								
Srl	Title	Author	Publisher	Qty	Rate	Total	Dis%	Dis Val	Value
97	MODERN CONTROL ENGINEERING 5ED	OGATA	PEARSON	1	729.00 R	729.00	28.00	204.12	524.88
98	MODERN CONTROL SYSTEMS 12ED	DORF	PEARSON	1	1069.00 R	1,069.00	28.00	299.32	769.68
99	MODERN ELECTRONIC INSTRUMENTATION AND MEASUREMENT TECHNIQUES	HELFRICK	PEARSON	1	579.00 R	579.00	28.00	162.12	416.88
100	MODERN WIRELESS COMMUNICATIONS	HAYKIN	PEARSON	1	789.00 R	789.00	28.00	220.92	568.08
101	NETWORK ANALYSIS 3ED	VALKENBURG	PEARSON	1	529.00 R	529.00	28.00	148.12	380.88
102	NETWORK ANALYSIS AND SYNTHESIS 1ED	SINGH	MCGRAW HILL	1	625.00 R	625.00	28.00	175.00	450.00
103	NISE'S CONTROL SYSTEM ENGINEERING	NISE	WILEY INDIA	1	889.00 R	889.00	28.00	248.92	640.08
104	OBJECT ORIENTED ANALYSIS AND DESIGN WITH APPLICATIONS 3ED	воосн	PEARSON	1	899.00 R	899.00	28.00	251.72	647.28
105	OBJECT ORIENTED PROGRAMMING USING C++ AND JAVA	BALAGURUSAMY	MCGRAW HILL	1	460.00 R	460.00	28.00	128.80	331.20
106	OP AMPS AND LINEAR INTEGRATED CIRCUITS 4ED	GAYAKWAD	PEARSON	1	539.00 R	539.00	28.00	150.92	388.08
107	OPERATIONAL AMPLIFIERS AND LINEAR ICS 3ED	BELL	OXFORD	1	525.00 R	525.00	28.00	147.00	378.00
108	OPERATIONAL AMPLIFIERS AND LINEAR INTEGRATED CIRCUITS 6ED	COUGHLIN	PEARSON	1	789.00 R	789.00	28.00	220.92	568.08
109	OPTICAL FIBER CIMMUNICATION 5ED	KEISER	MCGRAW-HILL	1	799.00 R	799.00	28.00	223.72	575.28
110	OPTICAL FIBER COMMUNICATIONS 3ED	SENIOR	PEARSON	1	879.00 R	879.00	28.00	246.12	632.88
111	PHYSICS OF SEMICONDUCTOR DEVICES 3ED	SZE	WILEY	1	789.00 R	789.00	28.00	220.92	568.08
112	POWER ELECTRONICS	HART	MCGRAW HILL	2	655.00 R	1,310.00	28.00	366.80	943.20
113	POWER ELECTRONICS	MANDAL	MCGRAW HILL	2	685.00 R	1,370.00	28.00	383.60	986.40
114	POWER ELECTRONICS 4ED	RASHID	PEARSON	1	739.00 R	739.00	28.00	206.92	532.08
115	POWER ELECTRONICS CONVERTERS APPLICATIONS AND DESIGN 3ED	MOHAN	WILEY	1	849.00 R	849.00	28.00	237.72	611.28
116	POWER ELECTRONICS: ESSENTIALS & APPLICATIONS	UMANAND	WILEY	1	789.00 R	789.00	28.00	220.92	568.08
117	PRINCIPLES OF ELECTROMAGNETICS 6ED	SADIKU	OXFORD	1	699.00 R	699.00	28.00	195.72	503.28
118	PRINCIPLES OF SIGNAL PROCESSING & LINEAR SYSTEM	LATHI	OXFORD	1	675.00 R	675.00	28.00	189.00	486.00
119	SATELLITE COMMUNICATIONS 4ED	RODDY	MCGRAW HILL	1	645.00 R	645.00	28.00	180.60	464.40
120	SCHAUMS OUT LINES LINEAR ALGEBRA 3ED	LIPSCHUTZ	MCGRAW HILL	1	685.00 R	685.00	28.00	191.80	493.20
121	SCHAUMS OUTLINES: ELECTRIC CIRCUITS 5ED	NAHVI	MCGRAW HILL	1	645.00 R	645.00	28.00	180.60	464.40
122	SEMICONDUCTOR DEVICE FUNDAMENTALS	PIERRET	PEARSON	1	899.00 R	899.00	28.00	251.72	647.28
123	SEMICONDUCTOR PHYSICS AND DEVICES 4ED	NEAMEN	MCGRAW HILL	1	715.00 R	715.00	28.00	200.20	514.80
124	SIGNALS AND SYSTEMS	NAHVI	MCCRAW-HILL	1	710.00 R	710.00	28.00	198.80	511.20
125	SIGNALS AND SYSTEMS 2ED	HAYKIN	WILEY	1	829.00 R	829.00	28.00	232.12	596.88
126	SIGNALS AND SYSTEMS 2ED	RAO	MCGRAW HILL	1	635.00 R	635.00	28.00	177.80	457.20
127	SIGNALS AND SYSTEMS 2ED	OPPENHEIM	PEARSON	1	699.00 R	699.00	28.00	195.72	503.28
128	SIGNALS AND SYSTEMS 3ED	ANAND KUMAR	PHI LEARNING	1	650.00 R	650.00	28.00	182.00	468.00

Conversion Rates Dlr: 72.20, Eur: 80.70, Pnd: 89.60

Page 4 of 5

Continue.....

^{*} Certified that latest edition have been supplied and that they are not remindered titles.

^{*} Certfied that the price charged in the invoice is correct and is according to Publisher's catalogue. The conversion rate quoted is the latest as decided by the Good Office Committee.

^{*} All disputes are subjected to Calicut Jurisdiction only.
* E. & O. E.

Opp.Govt.Mental Health Centre, PO. Kuthiravattom, Calicut - 673016 , Tel: 0495 2740321, 9747580707 info@calicutbooks.com www.calicutbooks.com

PAN - AALFC3813E, GSTIN - 32CXPPS8756M1ZE

BILL OF SUPPLY			REDIT
PRINCIPAL, ST.JOSEPH'S COLLEGE OF ENGINEERING & TECHNOLOGY			5778
PALAI,			01/01/2019
	STIN:	Date:	01/01/2019
Ref ELECTRONICS AND COMMUNICATION Da	nte	ORI	GINAL

Srl	Title	Author	Publisher	Qty	Rate	Total	Dis%	Dis Val	Value
129	SIGNALS AND SYSTEMS: CONTINUOUS AND DISCRETE 4ED	ZIEMER	PEARSON	1	729.00 R	729.00	28.00	204.12	524.88
130	SOLID STATE ELECTRONIC DEVICES 2ED	BHATTACHARYA	OXFORD	1	490.00 R	490.00	28.00	137.20	352.80
131	SOLID STATE ELECTRONIC DEVICES 7ED	STREETMAN	PEARSON	1	629.00 R	629.00	28.00	176.12	452.88
132	SOLID STATE PHYSICS	JOHN	MCGRAW HILL	1	675.00 R	675.00	28.00	189.00	486.00
133	STRUCTURED COMPUTER ORGANIZATION 6ED	TANENBAUM	PEARSON	1	829.00 R	829.00	28.00	232.12	596.88
134	TAUBS PRINCIPLES OF COMMUNICATION SYSTEMS 4ED	TAUB	MCGRAW HILL	2	695.00 R	1,390.00	28.00	389.20	1,000.80
135	TEXTBOOK OF NANOSCIENCE AND NANOTECHNOLOGY	MURTY	UNIVERSITIES PRESS	1	495.00 R	495.00	28.00	138.60	356.40
136	THE 8051 MICROCONTROLLER 3ED	AYALA	CENGAGE	1	525.00 R	525.00	28.00	147.00	378.00
137	THE 8051 MICROCONTROLLER 4ED	MACKENZIE	PEARSON	1	919.00 R	919.00	28.00	257.32	661.68
138	THE 805I MICROCONTROLLOER AND EMBEDDED SYSTEMS USING ASSEMBLY AND C 2ED	MAZIDI	PEARSON	1	759.00 R	759.00	28.00	212.52	546.48
139	THE C++ PROGRAMMING LANGUAGE 3ED	STROUSTRUP	PEARSON	1	939.00 R	939.00	28.00	262.92	676.08
140	THE COMPLETE REFERENCE PC HARDWARE	ZACKER	MCGRAW HILL	1	760.00 R	760.00	28.00	212.80	547.20
141	THE X86 MICROPROCESSORS 2ED	DAS	PEARSON	1	569.00 R	569.00	28.00	159.32	409.68
142	UNDERSTANDING DIGITAL SIGNAL PROCESS 3ED	LYON	PEARSON	1	1049.00 R	1,049.00	28.00	293.72	755.28
143	VLSI TECHNOLOGY 2ED	SZE	MCGRAW HILL	1	799.00 R	799.00	28.00	223.72	575.28
144	WIRELESS COMMUNICATION	NATHAN	PHI LEARNING	1	225.00 R	225.00	28.00	63.00	162.00
145	WIRELESS COMMUNICATIONS	SINGAL	MCGRAW HILL	1	770.00 R	770.00	28.00	215.60	554.40
146	WIRELESS COMMUNICATIONS 2ED	RAPPAPORT	PEARSON	1	789.00 R	789.00	28.00	220.92	568.08
				163		117,841.00		32,995.48	84,845.52

Page 5 of 5

Less Discount0.00Less To Round0.00Grand Total84,846.00

Rupees Eighty Four Thousand Eight Hundred and Forty Six Only

Conversion Rates Dlr: 72.20, Eur: 80.70, Pnd: 89.60

HSN Code:49011010

^{*} Certified that latest edition have been supplied and that they are not remindered titles.

^{*} Certfied that the price charged in the invoice is correct and is according to Publisher's catalogue. The conversion rate quoted is the latest as decided by the Good Office Committee.

Opp.Govt.Mental Health Centre, PO. Kuthiravattom, Calicut - 673016 , Tel: 0495 2740321, 9747580707 info@calicutbooks.com www.calicutbooks.com

PAN - AALFC3813E, GSTIN - 32CXPPS8756M1ZE

BILL OF SUPPLY			CREDIT			
PRINCIPAL, ST.JOSEPH`S COLLEGE OF ENGINEERING & TECHNOLOGY			Inv. No.	5874		
PALAI.				12/01/2019		
CHOONDACHERRY.P O. PALAI	GSTIN:		Date:	12/01/2019		
Ref MECHANICAL ENGINEERING	Date		ORI	GINAL		

12

Srl	Title	Author	Publisher	Qty	Rate	Total	Dis%	Dis Val	Value
1	PRINCIPLES OF METAL CASTING	HEINE	MCGRAW HILL	1	799.00 R	799.00	28.00	223.72	575.28
2	CAD/CAM THEORY AND PRACTICE 2ED	ZEID	MCGRAW-HILL	1	710.00 R	710.00	28.00	198.80	511.20
3	DESIGN OF MACHINE ELEMENTS 8ED	SPOTTS	PEARSON	1	919.00 R	919.00	28.00	257.32	661.68
4	CAD CAM CIM 4ED	RADHAKRISHNAN	NEWAGE	1	499.00 R	499.00	28.00	139.72	359.28
5	MECHATRONICS	НМТ	MCGRAW HILL	1	655.00 R	655.00	28.00	183.40	471.60
6	DESIGN OF MACHINE ELEMENTS 4ED	BHANDARI	MCCRAW-HILL	1	685.00 R	685.00	28.00	191.80	493.20
7	THEORY OF MACHINES AND MECHANISMS 4ED	UICKER	OXFORD	1	695.00 R	695.00	28.00	194.60	500.40
8	MANUFACTURING TECHNOLOGY VOL 2 4ED	RAO	MCGRAW HILL	1	625.00 R	625.00	28.00	175.00	450.00
9	METROLOGY AND MEASUREMENT	BEWOOR	MCGRAW HILL	1	710.00 R	710.00	28.00	198.80	511.20
10	THEORY OF MACHINES AND MECHANISMS.	BALLANEY	KHANNA	1	425.00 R	425.00	28.00	119.00	306.00
11	MECHANICS OF MATERIALS 2ED	GERE	CBS	1	550.00 R	550.00	28.00	154.00	396.00
12	INTRODUCTION TO ROBOTICS 2ED	NIKU	WILEY	1	699.00 R	699.00	28.00	195.72	503.28

Less Discount 0.00 Less To Round 0.00 Grand Total 5,739.00

2,231.88

5,739.12

7,971.00

Rupees Five Thousand Seven Hundred and Thirty Nine Only

Conversion Rates Dlr: 72.20, Eur: 80.70, Pnd: 89.60

* Certified that latest edition have been supplied and that they are not remindered titles.

* Certfied that the price charged in the invoice is correct and is according to Publisher's catalogue. The conversion rate quoted is the latest as decided by the Good Office Committee.

* All disputes are subjected to Calicut Jurisdiction only.

Page 1 of HSN Code:49011010

Opp.Govt.Mental Health Centre, PO. Kuthiravattom, Calicut - 673016 , Tel: 0495 2740321, 9747580707 info@calicutbooks.com www.calicutbooks.com

PAN - AALFC3813E, GSTIN - 32CXPPS8756M1ZE

BILL OF SUPPLY				REDIT
PRINCIPAL, ST.JOSEPH`S COLLEGE OF ENG			Inv. No.	5875
PALAI,				12/01/2019
CHOONDACHERRY.P O. PALAI	GSTIN:		Date:	12/01/2019
Ref ELECTRONICS ENGINEERING	Date		OR	IGINAI

Srl	Title	Author	Publisher	Qty	Rate	Total	Dis%	Dis Val	Value
1	WIRELESS COMMUNICATIONS AND NETWORKS 3G AND BEYOND 2ED	MISRA	MCGRAW HILL	1	720.00 R	720.00	28.00	201.60	518.40
2	CONTROL SYSTEMS 4ED	GOPAL	MCGRAW HILL	1	665.00 R	665.00	28.00	186.20	478.80
3	WIRELESS COMMUNICATIONS	SINGAL	MCGRAW HILL	1	770.00 R	770.00	28.00	215.60	554.40
4	CRYPTOGRAPHY AND NETWORK SECURITY 3ED	FOROUZAN	MCGRAW HILL	1	725.00 R	725.00	28.00	203.00	522.00
5	EMBEDDED SYSTEMS DESIGN	HEATH	ELSEVIER	1	465.00 R	465.00	28.00	130.20	334.80
6	SCHAUMS OUT LINES LINEAR ALGEBRA 3ED	LIPSCHUTZ	MCGRAW HILL	1	685.00 R	685.00	28.00	191.80	493.20

Page 1 of 1

Less Discount0.00Less To Round0.00Grand Total2.902.00

1,128.40

2,901.60

4,030.00

Rupees Two Thousand Nine Hundred and Two Only

Conversion Rates DIr: 72.20, Eur: 80.70, Pnd: 89.60

* Certified that latest edition have been supplied and that they are not remindered titles.

* Certfied that the price charged in the invoice is correct and is according to Publisher's catalogue. The conversion rate quoted is the latest as decided by the Good Office Committee.

HSN Code:49011010 F

Opp.Govt.Mental Health Centre, PO. Kuthiravattom, Calicut - 673016 , Tel: 0495 2740321, 9747580707 info@calicutbooks.com www.calicutbooks.com

PAN - AALFC3813E, GSTIN - 32CXPPS8756M1ZE

BILL OF SUPPLY				REDIT
PRINCIPAL, ST.JOSEPH'S COLLEGE OF ENGINE			Inv. No.	6002
PALAI,			Dotos	25/01/2019
CHOONDACHERRY.P O. PALAI	GSTIN:		Date:	25/01/2019
Ref NO.Ad.AIII/LID/70/18-19 (ELECTRICAL)	Date 07/01/2019		ORI	IGINAL

10

Srl	Title	Author	Publisher	Qty	Rate	Total	Dis%	Dis Val	Value
1	NONLINEAR SYSTEMS 3ED	KHALIL	PEARSON	3	669.00 R	2,007.00	28.00	561.96	1,445.04
2	ELECTRICAL POWER SYSTEMS QUALITY 3ED	DUGAN	MCGRAW-HILL	1	665.00 R	665.00	28.00	186.20	478.80
3	SMART GRID FUNDAMENTALS OF DESIGN AND ANALYSIS.	МОМОН	WILEY	2	589.00 R	1,178.00	28.00	329.84	848.16
4	SPECIAL ELECTRICAL MACHINES	JANARDANAN	PHI LEARNING	1	295.00 R	295.00	28.00	82.60	212.40
5	ELECTROMAGNETIC FIELD THEORY : INCLUDING ANTENNAS AND WAVE PROPAGATION	GANGADHAR	KHANNA	1	399.00 R	399.00	12.00	47.88	351.12
6	MICROPROCESSORS: THEORY AND APPLICATIONS	RAFIQUZZAMAN	PEARSON	1	659.00 R	659.00	28.00	184.52	474.48
7	SMART GRID FUNDAMENTALS OF DESIGN AND ANALYSIS.	МОМОН	WILEY	1	589.00 R	589.00	28.00	164.92	424.08

Page 1 of

 5,792.00
 1,557.92
 4,234.08

 Less Discount
 0.00

 Less To Round
 0.00

 Grand Total
 4.234.00

Rupees Four Thousand Two Hundred and Thirty Four Only

Conversion Rates Dlr: 72.20, Eur: 80.70, Pnd: 89.60

* Certified that latest edition have been supplied and that they are not remindered titles.

* Certfied that the price charged in the invoice is correct and is according to Publisher's catalogue. The conversion rate quoted is the latest as decided by the Good Office Committee.

 HSN Code:49011010 For CalicutBooks

Opp.Govt.Mental Health Centre, PO. Kuthiravattom, Calicut - 673016 , Tel: 0495 2740321, 9747580707 info@calicutbooks.com www.calicutbooks.com

PAN - AALFC3813E, GSTIN - 32CXPPS8756M1ZE

BILL OF	CREDIT		
PRINCIPAL, ST.JOSEPH`S COLLEGE OF ENGINEE	RING & TECHNOLOGY	Inv. No.	6003
PALAI,		_	25/01/2019
CHOONDACHERRY.P O. PALAI	GSTIN:	Date:	25/01/2019
Ref NO.Ad.AIII/LID/66/18-19 (ELECTRONICS)	Date 07/01/2019	OR	IGINAL

Srl	Title	Author	Publisher	Qty	Rate	Total	Dis%	Dis Val	Value
1	LOW POWER DIGITAL VLSI DESIGN	BELLAOUAR	YESDEE	1	1995.00 R	1,995.00	28.00	558.60	1,436.40
2	WIRELESS COMMUNICATIONS	SINGAL	MCGRAW HILL	1	770.00 R	770.00	28.00	215.60	554.40
3	ABSTRACT ALGEBRA 3ED	DUMMIT	WILEY	1	859.00 R	859.00	28.00	240.52	618.48

 3,624.00
 1,014.72
 2,609.28

 Less Discount
 0.00

 Less To Round
 0.00

 Grand Total
 2,609.00

Rupees Two Thousand Six Hundred and Nine Only

Conversion Rates Dlr: 72.20, Eur: 80.70, Pnd: 89.60

* Certified that latest edition have been supplied and that they are not remindered titles.

* Certfied that the price charged in the invoice is correct and is according to Publisher's catalogue. The conversion rate quoted is the latest as decided by the Good Office Committee.

Opp.Govt.Mental Health Centre, PO. Kuthiravattom, Calicut - 673016 , Tel: 0495 2740321, 9747580707 info@calicutbooks.com www.calicutbooks.com

PAN - AALFC3813E, GSTIN - 32CXPPS8756M1ZE

BILL OF	CREDIT			
PRINCIPAL, ST.JOSEPH'S COLLEGE OF ENGINE	Inv. No.	6005		
	COTIN	Date:	25/01/2019	
CHOONDACHERRY.P O. PALAI	GSTIN:			
Ref NO.Ad.AIII/LID/66/18-19 (MECHANICAL)	Date 07/01/2019	ORIGINAL		

<u>!</u>	•	1	,	0170	172010		ı		
Srl	Title	Author	Publisher	Qty	Rate	Total	Dis%	Dis Val	Value
1 SUCCESSFUL PRO	JECT MANAGEMENT 6ED	GIDO	CENGAGE	1	599.00 R	599.00	28.00	167.72	431.28
				1		599.00		167.72	431.28
					Less Disco	unt			0.00
					Less To Rou	und			0.00
Runges Four Hundre	d and Thirty One Only				Grand To	tal			431.00

Page 1 of 1

Rupees Four Hundred and Thirty One Only

Conversion Rates Dlr: 72.20, Eur: 80.70, Pnd: 89.60

* Certified that latest edition have been supplied and that they are not remindered titles.

* Certfied that the price charged in the invoice is correct and is according to Publisher's catalogue. The conversion rate quoted is the latest as decided by the Good Office Committee.

HSN Code:49011010 For CalicutBooks

Opp.Govt.Mental Health Centre, PO. Kuthiravattom, Calicut - 673016 , Tel: 0495 2740321, 9747580707 info@calicutbooks.com www.calicutbooks.com

PAN - AALFC3813E, GSTIN - 32CXPPS8756M1ZE

BILL OF	CI	REDIT	
PRINCIPAL, ST.JOSEPH`S COLLEGE OF ENGINE	ERING & TECHNOLOGY	Inv. No.	6006
PALAI,			
CHOONDACHERRY.P O. PALAI	GSTIN:	Date:	25/01/2019
Ref NO.Ad.AIII/LID/66/18-19 (COMPUTER)	Date 07/01/2019	OR	IGINAL

Less To Round Grand Total

ļ	17/14 = 70/E1 C30 13E, G31114 = 32E/(11307301/112E	1101 1101/101/101/10 10 (00/// 01211)		Date 07/01/2019				ORIGINAL		
Srl	Title	Author	Publisher	Qty	Rate	Total Dis%	Dis Val	Value		
1	CRYPTOGRAPHY AND INFORMATION SECURITY 2ED	PACHGHARE	PHI LEARNING	1	350.00 R	350.00 28.0	98.00	252.00		
2	DISTRIBUTED AND CLOUD COMPUTING	HWANG	ELSEVIER	1	610.00 R	610.00 28.0	170.80	439.20		
			_	2		960.00	268.80	691.20		
					Less Disc	ount		0.00		

Rupees Six Hundred and Ninety One Only

Conversion Rates Dlr: 72.20, Eur: 80.70, Pnd: 89.60

Page 1 of

HSN Code:49011010

For CalicutBooks

691.00

* Certified that latest edition have been supplied and that they are not remindered titles.

* Certfied that the price charged in the invoice is correct and is according to Publisher's catalogue. The conversion rate quoted is the latest as decided by the Good Office Committee.

Opp.Govt.Mental Health Centre, PO. Kuthiravattom, Calicut - 673016 , Tel: 0495 2740321, 9747580707 info@calicutbooks.com www.calicutbooks.com

PAN - AALFC3813E, GSTIN - 32CXPPS8756M1ZE

BILL OI	С	REDIT	
PRINCIPAL, ST.JOSEPH'S COLLEGE OF ENGINE	EERING & TECHNOLOGY	Inv. No.	6007
PALAI,			25/01/2019
CHOONDACHERRY.P O. PALAI	GSTIN:	Date.	20/01/2013
Ref NO.Ad.AIII/LID/66/18-19 (ELECTRICAL)	Date 07/01/2019	OR	IGINAL

ļ.	·	,	,	= 3332 0170172	20.0		I		
Srl	Title	Author	Publisher	Qty 1	Rate	Total D	Dis%	Dis Val	Value
1	INSTRUMENTATION FOR ENGINEERS AND SCIENTISTS	TURNER	OXFORD	1 1	295.00 R	295.00	28.00	82.60	212.40
			_	1		295.00		82.60	212.40
					Less Discount				0.00
					Less To Round				0.00
Runes	s Two Hundred and Twelve Only				Grand Total				212.00

Rupees Two Hundred and Twelve Only

Conversion Rates Dlr: 72.20, Eur: 80.70, Pnd: 89.60

Page 1 of 1

HSN Code:49011010

For CalicutBooks

* Certified that latest edition have been supplied and that they are not remindered titles.

* Certfied that the price charged in the invoice is correct and is according to Publisher's catalogue. The conversion rate quoted is the latest as decided by the Good Office Committee.

Opp.Govt.Mental Health Centre, PO. Kuthiravattom, Calicut - 673016 , Tel: 0495 2740321, 9747580707 info@calicutbooks.com www.calicutbooks.com

PAN - AALFC3813E, GSTIN - 32CXPPS8756M1ZE

BILL OF SUPPLY			CREDIT		
PRINCIPAL, ST.JOSEPH'S COLLEGE OF ENGINEERING & TECHNOLOGY				6008	
PALAI,			_	25/01/2019	
CHOONDACHERRY.P O. PALAI	GSTIN:		Date:	25/01/2019	
Ref NO.Ad.AIII/LID/66/18-19 (CIVIL)	Date 07/01/2019		ORI	IGINAL	

Srl	Title	Author	Publisher	Qty	Rate	Total	Dis%	Dis Val	Value
1	SOLID WASTE ENGINEERING 2ED	WORRELL	CENGAGE	2	525.00 R	1,050.00	28.00	294.00	756.00
2	ENVIRONMENTAL ENGINEERING	PEAVY	MCGRAW HILL	1	1120.00 R	1,120.00	28.00	313.60	806.40
3	INTRODUCTION TO ENVIRONMENTAL ENGINEERING 5ED	DAVIS	MCGRAW HILL	1	975.00 R	975.00	28.00	273.00	702.00
				4		2 4 4 5 00		000.00	0.004.40

3,145.00 880.60 2,264.40

Less Discount 0.00

Less To Round 0.00

Grand Total 2,264.00

Rupees Two Thousand Two Hundred and Sixty Four Only

Conversion Rates Dlr : 72.20, Eur : 80.70, Pnd : 89.60

* Certified that latest edition have been supplied and that they are not remindered titles.

* Certfied that the price charged in the invoice is correct and is according to Publisher's catalogue. The conversion rate quoted is the latest as decided by the Good Office Committee.

Opp.Govt.Mental Health Centre, PO. Kuthiravattom, Calicut - 673016 , Tel: 0495 2740321, 9747580707 info@calicutbooks.com www.calicutbooks.com

PAN - AALFC3813E, GSTIN - 32CXPPS8756M1ZE

BILL OF SUPPLY		CF	REDIT
PRINCIPAL, ST.JOSEPH'S COLLEGE OF ENGINE	EERING & TECHNOLOGY	Inv. No.	6009
PALAI,		_	25/01/2019
CHOONDACHERRY.P O. PALAI	GSTIN:	Date.	23/01/2019
Ref NO.Ad. AIII/LID/70/18-19 (COMPUTER)	Date 07/01/2019	OR	IGINAL

	-								
Srl	Title	Author	Publisher	Qty	Rate	Total	Dis%	Dis Val	Value
1	INTRODUCTION TO GRAPH THEORY 4ED	WILSON	PEARSON	2	669.00 R	1,338.00	28.00	374.64	963.36
2	DATA MINING 2ED	KANTARDZIC	WILEY INDIA	1	629.00 R	629.00	28.00	176.12	452.88
3	INTRODUCTION TO THE THEORY OF COMPUTATION 3ED	SIPSER	CENGAGE	2	550.00 R	1,100.00	28.00	308.00	792.00
			_	5		3,067.00		858.76	2,208.24

Page 1 of

Less Discount 0.00
Less To Round 0.00
Grand Total 2.208.00

Rupees Two Thousand Two Hundred and Eight Only

Conversion Rates Dlr : 72.20, Eur : 80.70, Pnd : 89.60

* Certified that latest edition have been supplied and that they are not remindered titles.

* Certfied that the price charged in the invoice is correct and is according to Publisher's catalogue. The conversion rate quoted is the latest as decided by the Good Office Committee.

HSN Code:49011010 For CalicutBooks

Opp.Govt.Mental Health Centre, PO. Kuthiravattom, Calicut - 673016 , Tel: 0495 2740321, 9747580707 info@calicutbooks.com www.calicutbooks.com

PAN - AALFC3813E, GSTIN - 32CXPPS8756M1ZE

BILL OF SUPPLY			CREDIT	
PRINCIPAL, ST.JOSEPH'S COLLEGE OF ENGINEE		In	v. No.	6010
PALAI,				25/01/2019
CHOONDACHERRY.P O. PALAI	GSTIN:	Da	ate:	25/01/2019
Ref NO.Ad. AIII/LID/70/18-19 (ELECTRONICS)	Date 07/01/2019		ORI	GINAL

Ref NO.Ad. AIII/LID/70/18-19 (ELECTRONICS) Date 07/01/2019	l OR
---	------

Srl	Title	Author	Publisher	Qty	Rate	Total	Dis%	Dis Val	Value
1	INSTRUMENTAL METHODS OF ANALYSIS 7ED	WILLARD	CBS	1	525.00 R	525.00	28.00	147.00	378.00
2	INSTRUMENTAL METHODS OF ANALYSIS 7ED	WILLARD	CBS	2	525.00 R	1,050.00	28.00	294.00	756.00
3	MODERN CONTROL SYSTEM THEORY 3ED	GOPAL	NEW AGE	1	375.00 R	375.00	25.00	93.75	281.25
				1		1 950 00		534.75	1 415 25

Page 1 of

Less Discount 0.00 Less To Round 0.00 Grand Total 1,415.00

Rupees One Thousand Four Hundred and Fifteen Only

Conversion Rates Dlr: 72.20, Eur: 80.70, Pnd: 89.60

* Certified that latest edition have been supplied and that they are not remindered titles.

* Certfied that the price charged in the invoice is correct and is according to Publisher's catalogue. The conversion rate quoted is the latest as decided by the Good Office Committee.

* All disputes are subjected to Calicut Jurisdiction only. * E. & O. E.

For CalicutBooks HSN Code:49011010

Opp.Govt.Mental Health Centre, PO. Kuthiravattom, Calicut - 673016 , Tel: 0495 2740321, 9747580707 info@calicutbooks.com www.calicutbooks.com

PAN - AALFC3813E, GSTIN - 32CXPPS8756M1ZE

BILL OF SUPPLY			REDIT
PRINCIPAL, ST.JOSEPH'S COLLEGE OF ENGINEERING & TECHNOLOGY		Inv. No.	6011
PALAI,			
CHOONDACHERRY.P O. PALAI	GSTIN:	Date:	25/01/2019
Ref NO.Ad. AIII/LID/70/18-19 (S&H BOOKS)	Date 07/01/2019	OR	IGINAL

11

Srl	Title	Author	Publisher	Qty	Rate	Total	Dis%	Dis Val	Value
1	PRACTICAL PHYSICS	KUMAR	PHI LEARNING	1	295.00 R	295.00	28.00	82.60	212.40
2	WILEY ENGINEERING CHEMISTRY 2ED	WILEY	WILEY	1	699.00 R	699.00	28.00	195.72	503.28
3	ENGINEERING PHYSICS	PANDEY	CENGAGE	1	675.00 R	675.00	28.00	189.00	486.00
4	EXPERIMENTS IN ENGINEERING PHYSICS	AVADHANULU	S. CHAND	1	130.00 R	130.00	22.00	28.60	101.40
5	A TEXTBOOK OF OPTICS	SUBRAHMANYAM	S. CHAND	1	599.00 R	599.00	22.00	131.78	467.22
6	ENGINEERING PHYSICS	SARIN	WILEY	1	519.00 R	519.00	28.00	145.32	373.68
7	ENGINEERING CHEMISTRY	RATH	CENGAGE	1	499.00 R	499.00	28.00	139.72	359.28
8	THOMAS CALCULUS 14ED	HASS.	PEARASON	1	899.00 R	899.00	28.00	251.72	647.28
9	MODERN ENGINEERING CHEMISTRY KTU	MANJOORAN	KANNATHERI	1	220.00 R	220.00	20.00	44.00	176.00
10	ENGINEERING CHEMISTRY WITH LABORATORY EXPERIMENTS	KAURAV	PHI LEARNING	1	275.00 R	275.00	28.00	77.00	198.00
11	ENGINEERING PHYSICS	BHATTACHARYA	OXFORD	1	615.00 R	615.00	28.00	172.20	442.80

Less Discount 0.00 Less To Round 0.00 **Grand Total** 3,967.00

1,457.66

3,967.34

5,425.00

Rupees Three Thousand Nine Hundred and Sixty Seven Only

Conversion Rates Dlr: 72.20, Eur: 80.70, Pnd: 89.60

* Certified that latest edition have been supplied and that they are not remindered titles.

* Certfied that the price charged in the invoice is correct and is according to Publisher's catalogue. The conversion rate quoted is the latest as decided by the Good Office Committee.

* All disputes are subjected to Calicut Jurisdiction only. * E. & O. E. Page 1 of

HSN Code:49011010

For CalicutBooks

Opp.Govt.Mental Health Centre, PO. Kuthiravattom, Calicut - 673016 , Tel: 0495 2740321, 9747580707 info@calicutbooks.com www.calicutbooks.com

PAN - AALFC3813E, GSTIN - 32CXPPS8756M1ZE

BILL OF SUPPLY		CF	REDIT	
PRINCIPAL, ST.JOSEPH'S COLLEGE OF ENG			Inv. No.	6012
PALAI,			_	25/01/2019
CHOONDACHERRY.P O. PALAI	GSTIN:		Date:	25/01/2019
Ref NO.Ad. AIII/LID/70/18-19 (CIVIL)	Date 07/01/2019		OR	IGINAL

Srl	Title	Author	Publisher	Qty	Rate	Total	Dic%	Dis Val	Value
511									
1	ENGINEERING HYDROLOGY	OJHA	OXFORD	1	540.00 R	540.00	28.00	151.20	388.80
2	INTRODUCTION TO ENVIRONMENTAL ENGINEERING 5ED	DAVIS	MCGRAW HILL	1	975.00 R	975.00	28.00	273.00	702.00
3	FUNDAMENTALS OF STRUCTURAL ANALYSIS 3ED	LEET	MCCRAW-HILL	4	1050.00 R	4,200.00	28.00	1,176.00	3,024.00
4	RAILWAY TRACK ENGINEERING 5ED	MUNDREY	MCCRAW-HILL	1	1795.00 R	1,795.00	28.00	502.60	1,292.40
5	PRINCIPLES AND PRACTICES OF HIGHWAY ENGINEERING 7ED	KADIYALI	KHANNA	3	449.00 R	1,347.00	12.00	161.64	1,185.36
6	ADVANCED FOUNDATION ENGINEERING	MURTHY	CBS	2	795.00 R	1,590.00	28.00	445.20	1,144.80
7	WATER SUPPLY ENGINEERING	VERMA	VIKAS	1	225.00 R	225.00	28.00	63.00	162.00
8	DESIGN OF STEEL STRUCTURES	DAYARATNAM	S. CHAND	1	625.00 R	625.00	28.00	175.00	450.00
9	APPLIED NUMERICAL ANALYSIS 7ED	GERALD	PEARSON	2	819.00 R	1,638.00	28.00	458.64	1,179.36
10	WASTE WATER TREATMENT CONCEPTS AND DESIGN 2ED	KARIA	PHI LEARNING	1	425.00 R	425.00	28.00	119.00	306.00
11	ESTIMATION AND QUANTITY SURVEYING	SEETHARAMAN	ANURADHA	3	340.00 R	1,020.00	28.00	285.60	734.40
12	TEXTBOOK OF ENVIRONMENTAL ENGINEERING	RAO	PHI LEARNING	1	250.00 R	250.00	28.00	70.00	180.00
13	ENVIRONMENTAL ENGINEERING	PEAVY	MCGRAW HILL	4	1120.00 R	4,480.00	28.00	1,254.40	3,225.60
14	MATRIX ANALYSIS OF FRAMED STRUCTURES 2ED	WEAVER	CBS	1	320.00 R	320.00	28.00	89.60	230.40
15	CONSTRUCTION PLANNING AND MANAGEMENT 2ED	DHIR	NEW AGE	1	299.00 R	299.00	25.00	74.75	224.25
16	HYDROLOGY AND WATER RESOURCES ENGINEERING 2ED	PATRA	NAROSA	1	545.00 R	545.00	28.00	152.60	392.40
17	DYNAMICS OF STRUCTURES 2ED	CLOUGH	CBS	1	795.00 R	795.00	28.00	222.60	572.40
18	WATER SUPPLY ENGINEERING	PUNMIA	LAXMI	2	425.00 R	850.00	25.00	212.50	637.50
19	REINFORCED CONCRETE DESIGN 3ED	PILLAI	MCGRAW HILL	1	680.00 R	680.00	28.00	190.40	489.60
20	PRESTRESSED CONCRETE 6ED	RAJU	MCGRAW HILL	1	690.00 R	690.00	28.00	193.20	496.80
21	DESIGN OF STEEL STRUCTURES	JAYAGOPAL	VIKAS	2	375.00 R	750.00	28.00	210.00	540.00
22	WATER SUPPLY AND POLLUTION CONTROL 8ED	VIESSMAN	PEARSON	1	899.00 R	899.00	28.00	251.72	647.28
23	DYNAMICS OF STRUCTURES 3ED	CHOPRA	PEARSON	1	849.00 R	849.00	28.00	237.72	611.28
24	OBJECT ORIENTED PROGRAMMING IN C++ 4ED	LAFORE	PEARSON	3	769.00 R	2,307.00	28.00	645.96	1,661.04
25	INTRODUCTION TO GEOGRAPHIC INFORMATION SYSTEMS 4ED	CHANG	MCGRAW-HILL	1	850.00 R	850.00	28.00	238.00	612.00
1 .	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1		44		00.044.00	0.00	7.054.00	04 000 07

 28,944.00
 7,854.33
 21,089.67

 Less Discount
 0.00

 Less To Round
 0.00

 Grand Total
 21,090.00

Rupees Twenty One Thousand Ninety Only

Conversion Rates Dlr: 72.20, Eur: 80.70, Pnd: 89.60

Page 1 of

HSN Code:49011010

41

^{*} Certified that latest edition have been supplied and that they are not remindered titles.

^{*} Certfied that the price charged in the invoice is correct and is according to Publisher's catalogue. The conversion rate quoted is the latest as decided by the Good Office Committee.

Opp.Govt.Mental Health Centre, PO. Kuthiravattom, Calicut - 673016 , Tel: 0495 2740321, 9747580707 info@calicutbooks.com www.calicutbooks.com

PAN - AALFC3813E, GSTIN - 32CXPPS8756M1ZE

BILL OF SUPPLY			CREDIT		
PRINCIPAL, ST.JOSEPH'S COLLEGE OF ENGINEERING & TECHNOLOGY				6310	
PALAI,			Date:	22/02/2019	
CHOONDACHERRY.P O. PALAI	GSTIN:		Date.	22/02/2013	
Ref NO.AD.Ad.AIII/LID/70/18-19 (S&H)	Date 07/01/2019		ORI	GINAL	

		1	,	2400 017	01/2010		1	– !
Srl	Title	Author	Publisher	Qty	Rate	Total Dis%	Dis Val	Value
1 A TEXTBOOK OF I	ENGINEERING PHYSICS (KTU)	VASUDEVA	S. CHAND	1	300.00 R	300.00 22.00	66.00	234.00
			_	1		300.00	66.00	234.00
					Less Disco	unt		0.00
					Less To Rou	nd		0.00
Rupees Two Hundre	ed and Thirty Four Only				Grand Tot	tal		234.00

Conversion Rates Dlr: 72.20, Eur: 80.70, Pnd: 89.60

Page 1 of

HSN Code:49011010

For CalicutBooks

* Certified that latest edition have been supplied and that they are not remindered titles.

* Certfied that the price charged in the invoice is correct and is according to Publisher's catalogue. The conversion rate quoted is the latest as decided by the Good Office Committee.

* All disputes are subjected to Calicut Jurisdiction only.
* E. & O. E.

Opp.Govt.Mental Health Centre, PO. Kuthiravattom, Calicut - 673016 , Tel: 0495 2740321, 9747580707 info@calicutbooks.com www.calicutbooks.com

PAN - AALFC3813E, GSTIN - 32CXPPS8756M1ZE

BILL OF SUPPLY			CREDIT		
PRINCIPAL, ST.JOSEPH`S COLLEGE OF ENGINEERING & TECHNOLOGY			Inv. No.	6311	
PALAI,			_		
CHOONDACHERRY.P O. PALAI	GSTIN:		Date:	22/02/2019	
Ref NO.AD.Ad.AIII/LID/70/18-19 (CIVIL)	Date 07/01/2019		ORI	IGINAL	

Srl	Title	Author	Publisher	Qty	Rate	Total I	Dis%	Dis Val	Value
1	MATRIX ANALYSIS OF FRAMED STRUCTURES 2ED	WEAVER	CBS	1	320.00 R	320.00	28.00	89.60	230.40
2	DESIGN OF STEEL STRUCTURES	JAYAGOPAL	VIKAS	1	375.00 R	375.00	28.00	105.00	270.00
3	A TEXTBOOK OF ESTIMATING AND COSTING(CIVIL)	KOHLI	S. CHAND	1	360.00 R	360.00	28.00	100.80	259.20
			_	3		1,055.00		295.40	759.60

Page 1 of

Less Discount 0.00
Less To Round 0.00
Grand Total 760.00

Rupees Seven Hundred and Sixty Only

Conversion Rates Dlr: 72.20, Eur: 80.70, Pnd: 89.60

* Certified that latest edition have been supplied and that they are not remindered titles.

* Certfied that the price charged in the invoice is correct and is according to Publisher's catalogue. The conversion rate quoted is the latest as decided by the Good Office Committee.

HSN Code:49011010 For CalicutBooks

Opp.Govt.Mental Health Centre, PO. Kuthiravattom, Calicut - 673016 , Tel: 0495 2740321, 9747580707 info@calicutbooks.com www.calicutbooks.com

PAN - AALFC3813E, GSTIN - 32CXPPS8756M1ZE

BILL OF SUPPLY			REDIT
PRINCIPAL, ST.JOSEPH'S COLLEGE OF ENGINE	Inv. No.	6312	
PALAI.		_	22/02/2019
CHOONDACHERRY.P O. PALAI	GSTIN:	Date:	22/02/2019
Ref NO.AD.Ad.AIII/LID/70/18-19 (APPLIED	Date 07/01/2019	OR	IGINAL

Srl	Title	Author	Publisher	Qty	Rate	Total	Dis%	Dis Val	Value
1	ARM ASSEMBLY LANGUAGE FUNDAMENTALS AND TECHNIQUES 2ED	HOHL	CRC PRESS	3	595.00 R	1,785.00	28.00	499.80	1,285.20
2	PRINCIPLES OF APPLIED BIOMEDICAL INSTRUMENTATION 3ED	GEDDES	WILEY	1	1495.00 R	1,495.00	28.00	418.60	1,076.40
			_	4		3,280.00		918.40	2,361.60

Page 1 of

 Less Discount
 0.00

 Less To Round
 0.00

 Grand Total
 2,362.00

Rupees Two Thousand Three Hundred and Sixty Two Only

Conversion Rates Dlr : 72.20, Eur : 80.70, Pnd : 89.60

* Certified that latest edition have been supplied and that they are not remindered titles.

* Certfied that the price charged in the invoice is correct and is according to Publisher's catalogue. The conversion rate quoted is the latest as decided by the Good Office Committee.

HSN Code:49011010 For CalicutBooks

Opp.Govt.Mental Health Centre, PO. Kuthiravattom, Calicut - 673016 , Tel: 0495 2740321, 9747580707 info@calicutbooks.com www.calicutbooks.com

PAN - AALFC3813E, GSTIN - 32CXPPS8756M1ZE

BILL OF S	CREDIT		
PRINCIPAL, ST.JOSEPH'S COLLEGE OF ENGINEER		Inv. No.	6313
PALAI,		_	22/02/2019
CHOONDACHERRY.P O. PALAI	GSTIN:	Date:	22/02/2019
Ref NO.AD.Ad.AIII/LID/70/18-19 (ELECTRICAL)	Date 07/01/219	OR	IGINAL

i	<u> </u>							
Srl	Title	Author	Publisher	Qty	Rate	Total Dis%	Dis Val	Value
1	ELECTRICAL POWER SYSTEMS QUALITY 3ED	DUGAN	MCGRAW-HILL	1	665.00 R	665.00 28.00	186.20	478.80
			_	1		665.00	186.20	478.80
					Less Disco	ount		0.00
					Less To Ro	ound		0.00
Run	ees Four Hundred and Seventy Nine Only				Grand To	otal		479.00

Rupees Four Hundred and Seventy Nine Only

Conversion Rates Dlr: 72.20, Eur: 80.70, Pnd: 89.60

Page 1 of 1

HSN Code:49011010

For CalicutBooks

* Certified that latest edition have been supplied and that they are not remindered titles.

* Certfied that the price charged in the invoice is correct and is according to Publisher's catalogue. The conversion rate quoted is the latest as decided by the Good Office Committee.

Opp.Govt.Mental Health Centre, PO. Kuthiravattom, Calicut - 673016 , Tel: 0495 2740321, 9747580707 info@calicutbooks.com www.calicutbooks.com

PAN - AALFC3813E, GSTIN - 32CXPPS8756M1ZE

BILL O	CREDIT	
PRINCIPAL, ST.JOSEPH'S COLLEGE OF ENGIN		Inv. No. 6314
PALAI,		
CHOONDACHERRY.P O. PALAI	GSTIN:	Date: 22/02/2019
Ref NO.Ad. AIII/LID/70/18-19 (COMPUER)	Date 07/01/2019	ORIGINAL

<u> </u>		1					ı		Į.
Srl	Title	Author	Publisher	Qty	Rate	Total	Dis%	Dis Val	Value
1 LINUX DEVICE DRIVI	ERS 3ED	CORBET	SHROFF	1	925.00 R	925.00	22.00	203.50	721.50
				1		925.00		203.50	721.50
					Less Disco	ount			0.00
					Less To Ro	ound			0.00
Runges Savan Hundr	ed and Twenty Two Only				Grand To	otal			722.00

Rupees Seven Hundred and Twenty Two Only

Conversion Rates Dlr: 72.20, Eur: 80.70, Pnd: 89.60

Page 1 of 1

HSN Code:49011010

For CalicutBooks

* Certified that latest edition have been supplied and that they are not remindered titles.

* Certfied that the price charged in the invoice is correct and is according to Publisher's catalogue. The conversion rate quoted is the latest as decided by the Good Office Committee.

Opp.Govt.Mental Health Centre, PO. Kuthiravattom, Calicut - 673016 , Tel: 0495 2740321, 9747580707 info@calicutbooks.com www.calicutbooks.com

PAN - AALFC3813E, GSTIN - 32CXPPS8756M1ZE

BILL OF	CREDIT		
PRINCIPAL, ST.JOSEPH'S COLLEGE OF ENGINE	Inv. No. 6315		
PALAI,			22/02/2019
CHOONDACHERRY.P O. PALAI	GSTIN:	Date.	22/02/2019
Ref NO.Ad.AIII/LID/66/18-19 (MECHANICAL)	Date 07/001/2019	OR	IGINAL

Grand Total

<u> </u>	ı						ı	
Srl	Title	Author	Publisher	Qty	Rate	Total 1	Dis% Dis Val	Value
1	AIRCRAFT PROPULSION 2ED	FAROKHI	WILEY	1	99.95 D	7,416.29	28.00 2,076.56	5,339.73
			_	1		7,416.29	2,076.56	5,339.73
					Less Disc	count		0.00
					Less To R	ound		0.00

Page 1 of 1

Rupees Five Thousand Three Hundred and Forty Only

Conversion Rates Dlr: 74.20, Eur: 80.70, Pnd: 89.60

HSN Code:49011010

For CalicutBooks

5,340.00

* Certified that latest edition have been supplied and that they are not remindered titles.

* Certfied that the price charged in the invoice is correct and is according to Publisher's catalogue. The conversion rate quoted is the latest as decided by the Good Office Committee.

Opp.Govt.Mental Health Centre, PO. Kuthiravattom, Calicut - 673016 , Tel: 0495 2740321, 9747580707 info@calicutbooks.com www.calicutbooks.com

PAN - AALFC3813E, GSTIN - 32CXPPS8756M1ZE

BILL OF SUPPLY			CREDIT		
PRINCIPAL, ST.JOSEPH'S COLLEGE OF ENG			Inv. No.	6316	
PALAI,				22/02/2019	
CHOONDACHERRY.P O. PALAI	GSTIN:		Date:	22/02/2019	
Ref NO.Ad.AIII/LID/66/18-19 (CIVIL)	Date 07/01/2019		ORI	IGINAL	

Grand Total

Srl	Title	Author	Publisher	Qty	Rate	Total	Dis%	Dis Val	Value
1	ENVIRONMENTAL MODELLING WITH GIS AND REMOTE SENSING	SKIDMORE	CRC PRESS	1	1695.00 R	1,695.00	28.00	474.60	1,220.40
				1		1,695.00		474.60	1,220.40
					Less Disc	count			0.00
					Less To R	ound			0.00

Rupees One Thousand Two Hundred and Twenty Only

Conversion Rates Dlr: 74.20, Eur: 80.70, Pnd: 89.60

Page 1 of

HSN Code:49011010

For CalicutBooks

1,220.00

* Certified that latest edition have been supplied and that they are not remindered titles.

* Certfied that the price charged in the invoice is correct and is according to Publisher's catalogue. The conversion rate quoted is the latest as decided by the Good Office Committee.

Opp.Govt.Mental Health Centre, PO. Kuthiravattom, Calicut - 673016 , Tel: 0495 2740321, 9747580707 info@calicutbooks.com www.calicutbooks.com

PAN - AALFC3813E, GSTIN - 32CXPPS8756M1ZE

BILL OF	BILL OF SUPPLY				
PRINCIPAL, ST.JOSEPH'S COLLEGE OF ENGINE		Inv. No.	6317		
PALAI,					
CHOONDACHERRY.P O. PALAI	GSTIN:	Date:	22/02/2019		
Ref NO.Ad.AIII/LID/66/18-19 (ELECTRONICS)	Date 07/01/2019	OR	IGINAL		

Less To Round

Srl	Title	Author	Publisher	Qty	Rate	Total	Dis%	Dis Val	Value
1	TEXTBOOK OF NANOSCIENCE AND NANOTECHNOLOGY	MURTY	UNIVERSITIES PRESS	1	495.00 R	495.00	28.00	138.60	356.40
2	NANOTECHNOLOGY AND NANOELECTONICS	FAHRNER	SPRINGER	1	159.99 E	13,487.16	28.00	3,776.40	9,710.75
3	LOW-POWER CMOS VLSI CIRCUIT DESIGN	ROY	WILEY	1	789.00 R	789.00	28.00	220.92	568.08

14,771.16 4,135.92 10,635.23 Less Discount 0.00

Grand Total 10,635.00

0.00

Rupees Ten Thousand Six Hundred and Thirty Five Only

Conversion Rates Dlr: 74.20, Eur: 84.30, Pnd: 89.60

* Certified that latest edition have been supplied and that they are not remindered titles.

* Certfied that the price charged in the invoice is correct and is according to Publisher's catalogue. The conversion rate quoted is the latest as decided by the Good Office Committee.

Opp.Govt.Mental Health Centre, PO. Kuthiravattom, Calicut - 673016 , Tel: 0495 2740321, 9747580707 info@calicutbooks.com www.calicutbooks.com

PAN - AALFC3813E, GSTIN - 32CXPPS8756M1ZE

BILL OF	BILL OF SUPPLY			
PRINCIPAL, ST.JOSEPH'S COLLEGE OF ENGINE		Inv. No.	6318	
PALAI,			_	22/02/2019
CHOONDACHERRY.P O. PALAI	GSTIN:		Date:	22/02/2019
Ref NO.Ad.AIII/LID/66/18-19 (ELECTRICAL)	Date 07/01/2019		ORI	GINAL

Grand Total

	·						•	
Srl	Title	Author	Publisher	Qty	Rate	Total Dis	% Dis Val	Value
1	ENERGY MANAGEMENT AND CONSERVATION HANDBOOK 2ED	KREITH	CRC PRESS	1	145.00 P	13,775.00 28.	00 3,857.00	9,918.00
			_	1		13,775.00	3,857.00	9,918.00
				Less Discount				0.00
					Less To Re	ound		0.00

Rupees Nine Thousand Nine Hundred and Eighteen Only

Conversion Rates Dlr: 74.20, Eur: 84.30, Pnd: 95.00

Page 1 of

HSN Code:49011010

For CalicutBooks

9,918.00

* Certified that latest edition have been supplied and that they are not remindered titles.

* Certfied that the price charged in the invoice is correct and is according to Publisher's catalogue. The conversion rate quoted is the latest as decided by the Good Office Committee.

Opp.Govt.Mental Health Centre, PO. Kuthiravattom, Calicut - 673016 , Tel: 0495 2740321, 9747580707 info@calicutbooks.com www.calicutbooks.com

PAN - AALFC3813E, GSTIN - 32CXPPS8756M1ZE

	-
BILL OF SUPPLY	CREDIT
PRINCIPAL, ST.JOSEPH'S COLLEGE OF ENGINEERING & TECHNOLOGY	Inv. No. 6319
PALAI.	
CHOONDACHERRY.P O. PALAI GSTIN:	Date: 22/02/2019
Ref NO.Ad.AIII/LID/54/18-19 (ELECTRONICS & Date	ORIGINAL

Srl	Title	Author	Publisher	Qty	Rate	Total	Dis%	Dis Val	Value
1	DIGITAL SIGNAL PROCESSING	SINGH	CENGAGE	1	525.00 R	525.00	28.00	147.00	378.00
2	ELECTROMAGNETICS WITH APPLICATIONS 5ED	KRAUS	MCGRAW HILL	1	785.00 R	785.00	28.00	219.80	565.20
3	LINEAR INTEGRATED CIRCUITS 5ED	CHOUDHARY	NEW AGE	1	399.00 R	399.00	28.00	111.72	287.28
4	NETWORKS AND SYSTEMS 2ED	CHOUDHURY	NEW AGE	1	475.00 R	475.00	28.00	133.00	342.00

Page 1 of

 2,184.00
 611.52
 1,572.48

 Less Discount
 0.00

 Less To Round
 0.00

 Grand Total
 1,572.00

Rupees One Thousand Five Hundred and Seventy Two Only

Conversion Rates Dlr: 74.20, Eur: 84.30, Pnd: 95.00

* Certified that latest edition have been supplied and that they are not remindered titles.

* Certfied that the price charged in the invoice is correct and is according to Publisher's catalogue. The conversion rate quoted is the latest as decided by the Good Office Committee.

HSN Code:49011010 For CalicutBooks

Opp.Govt.Mental Health Centre, PO. Kuthiravattom, Calicut - 673016 , Tel: 0495 2740321, 9747580707 info@calicutbooks.com www.calicutbooks.com

PAN - AALFC3813E, GSTIN - 32CXPPS8756M1ZE

BILL OF SUPPLY	CREDIT
PRINCIPAL, ST.JOSEPH'S COLLEGE OF ENGINEERING & TECHNOLOGY	Inv. No. 6321
PALAI.	
CHOONDACHERRY.P O. PALAI GSTIN:	Date: 22/02/2019
Ref NO.Ad.AIII/LID/55/18-19 (MECHANICAL) Date	ORIGINAL

Srl	Title	Author	Publisher	Qty	Rate	Total	Dis%	Dis Val	Value
1	POWER ELECTRONICS 2ED	SINGH	MCGRAW HILL	1	625.00 R	625.00	28.00	175.00	450.00
2	FUNDAMENTALS OF THERMODYNAMICS 7ED	BORGNAKKE	WILEY	1	849.00 R	849.00	28.00	237.72	611.28
3	ELEMENTARY MECHANICS OF SOLIDS 1ED	SINGH	NEW AGE	1	175.00 R	175.00	28.00	49.00	126.00
4	MACHINE DRAWING 5ED	NARAYANA	NEW AGE	1	399.00 R	399.00	28.00	111.72	287.28
5	MANUFACTURING SCIENCE 2ED	GHOSH	EAST-WEST PRESS	1	295.00 R	295.00	28.00	82.60	212.40
6	FUNDAMENTALS OF ENGINEERING HEAT AND MASS TRANSFER 5ED	SACHDEVA	NEW AGE	1	499.00 R	499.00	28.00	139.72	359.28
7	RENEWABLE ENERGY.	WENGENMAYR	WILEY VCH	1	48.95 D	3,632.09	28.00	1,016.99	2,615.10
8	FUNDAMENTALS OF HEAT AND MASS TRANSFER 4ED	KOTHANDARAMAN	NEW AGE	1	499.00 R	499.00	28.00	139.72	359.28
9	A COURSE IN REFRIGERATION AND AIR CONIDITIONING	DOMKUNDWAR	DHANPAT RAI	1	675.00 R	675.00	28.00	189.00	486.00
10	REFRIGERATION AND AIR CONDITIONING 3ED	PRASAD	NEW AGE	1	399.00 R	399.00	28.00	111.72	287.28
11	FUNDAMENTALS OF COMPRESSIBLE FLOW WITH AIRCRAFT AND ROCKET PROPULSION	YAHYA	NEW AGE	1	499.00 R	499.00	28.00	139.72	359.28
12	MACHINE COMPONENT DESIGN	JUVINALL	WILEY	1	999.00 R	999.00	28.00	279.72	719.28
13	MACHINE DESIGN 3ED	KARWA	LAXMI	1	895.00 R	895.00	28.00	250.60	644.40
14	MACHINES AND MECHANISMS 4ED	MYSZKA	PEARSON	1	719.00 R	719.00	28.00	201.32	517.68
15	A FIRST COURSE ON ELECTRICAL DRIVES 3ED	PILLAI	NEW AGE	1	299.00 R	299.00	28.00	83.72	215.28
16	A TEXTBOOK OF FLUID MECHANICS AND HYDRAULIC MACHINES 9ED	BANSAL	LAXMI	1	650.00 R	650.00	28.00	182.00	468.00
				16		12,108.09		3,390.27	8,717.82

Page 1 of

Less Discount 0.00 Less To Round 0.00 **Grand Total** 8,718.00

Rupees Eight Thousand Seven Hundred and Eighteen Only

Conversion Rates Dlr: 74.20, Eur: 84.30, Pnd: 95.00

HSN Code:49011010

^{*} Certified that latest edition have been supplied and that they are not remindered titles.

^{*} Certfied that the price charged in the invoice is correct and is according to Publisher's catalogue. The conversion rate quoted is the latest as decided by the Good Office Committee.

Opp.Govt.Mental Health Centre, PO. Kuthiravattom, Calicut - 673016 , Tel: 0495 2740321, 9747580707 info@calicutbooks.com www.calicutbooks.com

PAN - AALFC3813E, GSTIN - 32CXPPS8756M1ZE

BILL OF SUPPLY				REDIT
PRINCIPAL, ST.JOSEPH'S COLLEGE OF ENGINEERING & TECHNOLOGY				6652
PALAI,			_	23/03/2019
CHOONDACHERRY.P O. PALAI	GSTIN:		Date:	23/03/2019
Ref NO.Ad.AIII/LID/82/18-19 (MBA)	Date 07/03/2019		OR	IGINAL

Srl	Title	Author	Publisher	Qty	Rate	Total	Dis%	Dis Val	Value
1	FUNDAMENTALS OF CORPORATE FINANCE 11ED	ROSS	MCCRAW-HILL	1	875.00 R	875.00	28.00	245.00	630.00
2	FINANCIAL ACCOUNTING A MANGERIAL PERSPECTIVES 6ED	NARAYANASWAMY	PHI LEARNING	1	595.00 R	595.00	28.00	166.60	428.40
3	ECONOMIC ENVIRONMENT OF BUSINESS WITH CASE STUDIES 11ED	PURI	HIMALAYA	5	790.00 R	3,950.00	28.00	1,106.00	2,844.00
4	INSURANCE AND RISK MANAGEMENT 2ED	GUPTA	HIMALAYA	5	760.00 R	3,800.00	28.00	1,064.00	2,736.00
5	THE FORTUNE AT THE BOTTOM OF THE PYRAMID	PRAHLAD	PEARSON	1	799.00 R	799.00	28.00	223.72	575.28
6	INTRODUCTION TO SUSTAINABLE ENGINEERING 4ED	KRISHNAN	PKC	5	220.00 R	1,100.00	28.00	308.00	792.00
7	INDUSTRIAL MARKETING 4ED	HILL	AITBS	3	295.00 R	885.00	28.00	247.80	637.20
8	CROSS CULTURAL MANAGEMENT 2ED	MADHAVAN	OXFORD UNIVERSITY	5	475.00 R	2,375.00	28.00	665.00	1,710.00
9	FINANCIAL ACCOUNTING A MANGERIAL PERSPECTIVES 6ED	NARAYANASWAMY	PHI LEARNING	4	595.00 R	2,380.00	28.00	666.40	1,713.60
10	INTERNATIONAL MANAGEMENT 9ED	DERESKY	PEARSON	5	799.00 R	3,995.00	28.00	1,118.60	2,876.40
				35		20,754.00		5,811.12	14,942.88

Less Discount 0.00
Less To Round 0.00
Grand Total 14,943.00

Rupees Fourteen Thousand Nine Hundred and Forty Three Only

Conversion Rates Dlr: 74.20, Eur: 84.30, Pnd: 95.00

* Certified that latest edition have been supplied and that they are not remindered titles.

* Certfied that the price charged in the invoice is correct and is according to Publisher's catalogue. The conversion rate quoted is the latest as decided by the Good Office Committee.

Page 1 of 1 HSN Code:49011010 For CalicutBooks

Opp.Govt.Mental Health Centre, PO. Kuthiravattom, Calicut - 673016 , Tel: 0495 2740321, 9747580707 info@calicutbooks.com www.calicutbooks.com

PAN - AALFC3813E, GSTIN - 32CXPPS8756M1ZE

BILL	BILL OF SUPPLY				
PRINCIPAL, ST.JOSEPH`S COLLEGE OF ENG	INEERING & TECHNOLOGY		Inv. No.	6653	
PALAI,			_	23/03/2019	
CHOONDACHERRY.P O. PALAI	GSTIN:		Date:	23/03/2019	
Ref NO.Ad.AIII/LID/83/18-19 (S3-S4)	Date 07/03/20019		ORI	IGINAL	

HSN Code:49011010

	·								
Srl	Title	Author	Publisher	Qty	Rate	Total	Dis%	Dis Val	Value
1	BUILDING MATERIALS AND CONSTRUCTION	SAHU	MCGRAW HILL	1	560.00 R	560.00	28.00	156.80	403.20
2	ELECTRICAL MACHINES	CHAKRABARTI	MCGRAW HILL	1	630.00 R	630.00	28.00	176.40	453.60
3	FUNDAMENTALS OF PYTHON	LAMBERT	CENGAGE	1	425.00 R	425.00	28.00	119.00	306.00
			-						

Page 1 of

 1,615.00
 452.20
 1,162.80

 Less Discount
 0.00

 Less To Round
 0.00

 Grand Total
 1,163.00

Rupees One Thousand One Hundred and Sixty Three Only

Conversion Rates Dlr: 74.20, Eur: 84.30, Pnd: 95.00

* Certified that latest edition have been supplied and that they are not remindered titles.

* Certfied that the price charged in the invoice is correct and is according to Publisher's catalogue. The conversion rate quoted is the latest as decided by the Good Office Committee.

Authorised Signatory

Opp.Govt.Mental Health Centre, PO. Kuthiravattom, Calicut - 673016 , Tel: 0495 2740321, 9747580707 info@calicutbooks.com www.calicutbooks.com

PAN - AALFC3813E, GSTIN - 32CXPPS8756M1ZE

BILI	L OF SUPPLY		CF	REDIT
RINCIPAL, ST.JOSEPH'S COLLEGE OF ENGINEERING & TECHNOLOGY		Inv. No.	6654	
PALAI,			Date:	23/03/2019
CHOONDACHERRY.P O. PALAI	GSTIN:		Date.	23/03/2019
Ref NO.Ad.AIII/LID/83/18-19 (S1-S4)	Date 07/03/2019		ORI	GINAL

Srl	Title	Author	Publisher	Qty	Rate	Total	Dis%	Dis Val	Value
1	AN INTRODUCTION TO MECHANICAL ENGINEERING	CLIFFORD	TAYLOR AND	3	695.00 R	2,085.00	28.00	583.80	1,501.20
2	AUTOMOTIVE MECHANICS 10ED	CROUSE	MCGRAW HILL	3	880.00 R	2,640.00	28.00	739.20	1,900.80
3	BASIC CONCEPTS IN ENVIRONMENTAL MANAGEMENT	MACKENTHUN	CRC PRESS	3	395.00 R	1,185.00	28.00	331.80	853.20
4	BASIC MECHANICAL ENGINEERING 2ED	KUMAR	PEARSON	1	449.00 R	449.00	28.00	125.72	323.28
5	CONSTRUCTION TECHNOLOGY VOL 2 2ED	CHUDLEY	PEARSON	2	469.00 R	938.00	28.00	262.64	675.36
6	CONSTRUCTION TECHNOLOGY VOL.1 2ED	CHUDLEY	PEARSON	2	469.00 R	938.00	28.00	262.64	675.36
7	ELEMENTS OF CIVIL ENGINEERING 3ED	KANDYA	CHAROTAR	3	400.00 R	1,200.00	28.00	336.00	864.00
8	ENGINEERING BY DESIGN 2ED	VOLAND	PEARSON	2	769.00 R	1,538.00	28.00	430.64	1,107.36
9	ENGINEERING DESIGN 4ED	DYM	WILEY INDIA	2	619.00 R	1,238.00	28.00	346.64	891.36
10	ENGINEERING DESIGN PROCESS 2ED	HAIK	CENGAGE	2	550.00 R	1,100.00	28.00	308.00	792.00
11	ENGINEERING MECHANICS	BABU	PEARSON	3	529.00 R	1,587.00	28.00	444.36	1,142.64
12	ENGINEERING MECHANICS 14ED	HIBBELER	PEARSON	2	839.00 R	1,678.00	28.00	469.84	1,208.16
13	ESSENTIALS OF CIVIL ENGINEERING	RANGWALA	CHAROTAR	3	275.00 R	825.00	28.00	231.00	594.00
14	FUNDAMENTALS OF PYTHON	LAMBERT	CENGAGE	3	425.00 R	1,275.00	28.00	357.00	918.00
15	INTERMEDIATE STRUCTURAL ANALYSIS	WANG	MCGRAW-HILL	2	825.00 R	1,650.00	28.00	462.00	1,188.00
16	INTRODUCTION TO COMPUTATION AND PROGRAMMING USING PYTHON 2ED	GUTTAG	PHI LEARNING	3	695.00 R	2,085.00	28.00	583.80	1,501.20
17	MILLER & FREUND'S: PROBABILITY AND STATISTICS FOR ENGINEERS 8ED	JOHNSON	PEARSON	3	649.00 R	1,947.00	28.00	545.16	1,401.84
18	OBJECT ORIENTED SYSTEMS DEVELOPMENT	BAHRAMI	MCGRAW HILL	3	695.00 R	2,085.00	28.00	583.80	1,501.20
19	PROBLEMS IN ELECTRICAL ENGINEERING 9ED	SMITH	CBS	1	260.00 R	260.00	28.00	72.80	187.20
20	SOFT SKILLS FOR MANAGERS	CHAKRAVARTHI	BIZTANTRA	3	349.00 R	1,047.00	28.00	293.16	753.84
21	SUSTAINABLE ENGINEERING	ALLEN	PEARSON	3	319.00 R	957.00	28.00	267.96	689.04
				52		28,707.00		8,037.96	20,669.04

Less Discount Less To Round **Grand Total** 20,669.00

Page 1 of

Rupees Twenty Thousand Six Hundred and Sixty Nine Only

Conversion Rates Dlr: 74.20, Eur: 84.30, Pnd: 95.00

HSN Code:49011010

For CalicutBooks

0.00

0.00

^{*} Certified that latest edition have been supplied and that they are not remindered titles.

^{*} Certfied that the price charged in the invoice is correct and is according to Publisher's catalogue. The conversion rate quoted is the latest as decided by the Good Office Committee.

Opp.Govt.Mental Health Centre, PO. Kuthiravattom, Calicut - 673016 , Tel: 0495 2740321, 9747580707 info@calicutbooks.com www.calicutbooks.com

PAN - AALFC3813E, GSTIN - 32CXPPS8756M1ZE

BILL O	CREDIT		
PRINCIPAL, ST.JOSEPH'S COLLEGE OF ENGIN	Inv. No.	6657	
PALAI,			25/03/2019
CHOONDACHERRY.P O. PALAI	GSTIN:	Date:	25/05/2019
Ref NO.Ad.AIII/LID/55/18-19 (MECHANICAL)	Date 12/07/2018	OR	IGINAL

Less Discount

Less To Round

Grand Total

1	· · · · · · · · · · · · · · · · · · ·						•		
Srl	Title	Author	Publisher	Qty	Rate	Total	Dis%	Dis Val	Value
1	COLLABORATIVE DESIGN AND PLANNING FOR DIGITAL MANUFACTURING	WANG	SPRINGER	1	199.99 E	16,899.16	28.00	4,731.76	12,167.39
2	FUNDAMENTALS OF DIGITAL MANUFACTURING SCIENCE	ZHOU	SPRINGER	1	199.99 E	16,899.16	28.00	4,731.76	12,167.39
3	MECHANICS OF FLUIDS 3ED	SHAMES	MCGRAW HILL	1	1095.00 R	1,095.00	28.00	306.60	788.40
4	SMART MATERIAL SYSTEMS AND MEMS:DESIGN AND DEVELOPMENT METHODOLOGIES	VARADAN	WILEY	1	879.00 R	879.00	28.00	246.12	632.88
5	MECHATRONICS INTEGRATED MECHANICAL ELECTRONIC SYSTEMS	RAMACHANDRAN	WILEY	1	789.00 R	789.00	28.00	220.92	568.08
6	RENEWABLE ENERGY 3ED	BOYLE	OXFORD	1	850.00 R	850.00	28.00	238.00	612.00
7	VIRTUAL REALITY TECHNOLOGY 2ED	BURDEA	WILEY	1	649.00 R	649.00	28.00	181.72	467.28
8	KINEMATICS AND DYNAMICS OF MACHINERY 3ED	WILSON	PEARSON	1	1049.00 R	1,049.00	28.00	293.72	755.28
9	FOUNDRY TECHNOLOGY 2ED(HB)	BEELEY	ELSEVIER	1	2295.00 R	2,295.00	28.00	642.60	1,652.40
				9		41,404.31	·	11,593.21	29,811.10

Rupees Twenty Nine Thousand Eight Hundred and Eleven Only

Conversion Rates Dlr : 74.20, Eur : 84.50, Pnd : 95.00

* Certified that latest edition have been supplied and that they are not remindered titles.

* Certified that the price charged in the invoice is correct and is according to Publisher's catalogue. The conversion rate quoted is the latest as decided by the Good Office Committee.

Page 1 of 1 HSN Code:49011010 For CalicutBooks

Authorised Signatory

0.00

0.00

29,811.00

Opp.Govt.Mental Health Centre, PO. Kuthiravattom, Calicut - 673016 , Tel: 0495 2740321, 9747580707 info@calicutbooks.com www.calicutbooks.com

PAN - AALFC3813E, GSTIN - 32CXPPS8756M1ZE

BILL OF SUPPLY				REDIT
PRINCIPAL, ST.JOSEPH'S COLLEGE OF ENGINEE			Inv. No.	6658
PALAI,			_	25/03/2019
CHOONDACHERRY.P O. PALAI	GSTIN:		Date:	25/05/2019
Ref NO.Ad.AIII/LID/54/18-19 (ELECTRONICS)	Date 12/07/2018		ORI	GINAL

HSN Code:49011010

Srl	Title	Author	Publisher	Qty	Rate	Total	Dis%	Dis Val	Value
1	OPTICAL FIBER COMMUNICATION	CHAKRABARTI	MCCRAW-HILL	2	499.00 R	998.00	28.00	279.44	718.56
2	DSP: APPLICATIONS USING C AND THE TMS320C6X DSK	CHASSAING	WILEY	1	158.00 D	11,818.40	28.00	3,309.15	8,509.25
3	NETWORK ANALYSIS AND SYNTHESIS 2ED	KUO	WILEY	1	709.00 R	709.00	28.00	198.52	510.48
4	AUTOMATIC CONTROL SYSTEMS 9ED	GOLNARAGHI	WILEY	1	709.00 R	709.00	28.00	198.52	510.48

Page 1 of

Less Discount 0.00
Less To Round 0.00
Grand Total 10.249.00

3.985.63

10,248.77

14,234.40

Rupees Ten Thousand Two Hundred and Forty Nine Only

Conversion Rates Dlr: 74.80, Eur: 84.50, Pnd: 95.00

* Certified that latest edition have been supplied and that they are not remindered titles.

* Certfied that the price charged in the invoice is correct and is according to Publisher's catalogue. The conversion rate quoted is the latest as decided by the Good Office Committee.

Opp.Govt.Mental Health Centre, PO. Kuthiravattom, Calicut - 673016 , Tel: 0495 2740321, 9747580707 info@calicutbooks.com www.calicutbooks.com

PAN - AALFC3813E, GSTIN - 32CXPPS8756M1ZE

BILL OF	CF	REDIT	
PRINCIPAL, ST.JOSEPH'S COLLEGE OF ENGINE		Inv. No.	6673
PALAI,		Dotos	25/03/2019
CHOONDACHERRY.P O. PALAI	GSTIN:	Date:	25/05/2019
Ref NO.Ad.AIII/LID/66/18-19 (MECHANICAL)	Date 07/01/2019	OR	IGINAL

ļ	ļ		(,	Date 017	01/2013		1 00.	
Ī	Srl	Title	Author	Publisher	Qty	Rate	Total Dis%	Dis Val	Value
	1	INDUSTRIAL SAFETY, HEALTH AND ENVIRONMENT MANAGEMENT SYSTEMS	JAIN	KHANNA	2	499.00 R	998.00 28.00	279.44	718.56
					2		998.00	279.44	718.56
						Less Disco	unt		0.00
						Less To Rou	ınd		0.00
	Rune	es Seven Hundred and Nineteen Only				Grand To	tal		719.00

Page 1 of 1

Rupees Seven Hundred and Nineteen Only

Conversion Rates Dlr: 74.80, Eur: 84.50, Pnd: 95.00

* Certified that latest edition have been supplied and that they are not remindered titles.

* Certfied that the price charged in the invoice is correct and is according to Publisher's catalogue. The conversion rate quoted is the latest as decided by the Good Office Committee.

HSN Code:49011010 For CalicutBooks

Opp.Govt.Mental Health Centre, PO. Kuthiravattom, Calicut - 673016 , Tel: 0495 2740321, 9747580707 info@calicutbooks.com www.calicutbooks.com

PAN - AALFC3813E, GSTIN - 32CXPPS8756M1ZE

BILL OF SUPPLY			REDIT
PRINCIPAL, ST.JOSEPH'S COLLEGE OF ENGINE	Inv. No.	6674	
PALAI.		_	25/03/2019
CHOONDACHERRY.P O. PALAI	GSTIN:	Date:	23/03/2019
Ref NO.Ad.AIII/LID/70/18-19 (ELECTRICAL)	Date 07/01/2019	OR	IGINAL

:	•						,	:
Srl	Title	Author	Publisher	Qty	Rate	Total Dis%	Dis Val	Value
1	ELECTRICAL POWER SYSTEMS QUALITY 3ED	DUGAN	MCGRAW-HILL	1	665.00 R	665.00 28.00	186.20	478.80
				1		665.00	186.20	478.80
					Less Disc	ount		0.00
					Less To Ro	ound		0.00
Buna	one Four Hundred and Seventy Nine Only				Grand T	otal		479.00

Page 1 of 1

Rupees Four Hundred and Seventy Nine Only

Conversion Rates Dlr: 74.80, Eur: 84.50, Pnd: 95.00

HSN Code:49011010

For CalicutBooks

* Certified that latest edition have been supplied and that they are not remindered titles.

* Certfied that the price charged in the invoice is correct and is according to Publisher's catalogue. The conversion rate quoted is the latest as decided by the Good Office Committee.

Opp.Govt.Mental Health Centre, PO. Kuthiravattom, Calicut - 673016 , Tel: 0495 2740321, 9747580707 info@calicutbooks.com www.calicutbooks.com

PAN - AALFC3813E, GSTIN - 32CXPPS8756M1ZE

BILL OF SUPPLY			CREDIT		
PRINCIPAL, ST.JOSEPH'S COLLEGE OF ENG			Inv. No.	6675	
PALAI,			_	25/03/2019	
CHOONDACHERRY.P O. PALAI	GSTIN:		Date:	25/03/2019	
Ref NO.Ad.AIII/LID/70/18-19 (CIVIL)	Date 07/01/2019		OR	IGINAL	

Srl	Title	Author	Publisher	Qty	Rate	Total Dis	% Dis Val	Value
1	A TEXTBOOK OF ADVANCED SURVEYING	AGOR	KHANNA	2	399.00 R	798.00 12	00 95.76	702.24
2	WASTEWATER ENGINEERING	PUNMIA	LAXMI	1	495.00 R	495.00 25	00 123.75	371.25
3	IRRIGATION ENGINEERING AND HYDRAULIC STRUCTURES	SAHASRABUDHE	S.K.KATARIA	2	495.00 R	990.00 20	00 198.00	792.00
			_	5		2,283.00	417.51	1,865.49

Page 1 of 1

Less Discount 0.00
Less To Round 0.00
Grand Total 1.865.00

Rupees One Thousand Eight Hundred and Sixty Five Only

Conversion Rates Dlr: 74.80, Eur: 84.50, Pnd: 95.00

* Certified that latest edition have been supplied and that they are not remindered titles.

* Certfied that the price charged in the invoice is correct and is according to Publisher's catalogue. The conversion rate quoted is the latest as decided by the Good Office Committee.

HSN Code:49011010 For CalicutBooks